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QUESTION 1

A customer wants to dynamically monitor the status of a critical route. Which feature should you recommend that the
customer use? 

A. Wireshark 

B. Embedded Event Manager 

C. IP Service Level Agreement 

D. Generic Online Diagnostics 

Correct Answer: C 

 

QUESTION 2

When the Cisco Catalyst 3850 is configured as a wireless mobility agent, what must be true? 

A. Cisco ISE must be joined to Microsoft AD. 

B. Access points must be connected directly to the Catalyst 3850. 

C. Access points may be connected anywhere in the network. 

D. The mobility controller must be CT5760. 

Correct Answer: B 

 

QUESTION 3

Within Cisco ISE, which persona or node is responsible for enforcing policy? 

A. Policy Administration Node 

B. Guest Service persona 

C. Inline Posture Node 

D. Policy Service persona 

Correct Answer: C 

 

QUESTION 4

Cisco ISE uses HTTPS for its Guest Service portals (Guest, Sponsor, WebAuth). What is the default TCP port number? 

A. 8443 
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B. 8080 

C. 443 

D. 80 

Correct Answer: A 

 

QUESTION 5

In the Cisco Unified Wireless Network infrastructure, which combination of devices and/or features best accomplishes
high availability? 

A. backup controllers and client SSO 

B. backup controllers and LAG 

C. N+1 and client state replication 

D. N+1 and backup controllers 

Correct Answer: A 
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